¥ B KEE

B B % E = R B AR B & %5 % 3
=L =
X 5] %
N5 AR WA EE B
¥ % % | Bm—H

oM - oI A

TS EE  TAEFIERERT




X At K
woodos w
(N &)
®OB i

WO OB MY

H dH




ARTHEENRE

Bl - TFE - FEB - J0B0 - HIES BAAL ¥ = il & | e fir =
A~ — 2 15™M
=y s
* 1 ﬁR%
A | #H T
[1] EEEH o
vrvy b4 tHE &/H %%?
[2] & GEHm. m B BHA EH) 3EH
TR 5] H4 t m3 ) ARE
[3] e tRbRLSy (BEEEkl4E) .
380005 | Hdt 3 , AR
[4] #h/kE o
4t =/H gégq
[5] F/ARADBRE (437 1L) -
Vi 12N i o %giiljﬂ
1 FAN=]
[6] 7@kl BhdE T (A) TEN
A Rt
(7] @ik fi BhdE T (B) 8P
A A

B b FKE R



® o
afn m&t&

U~ — 2
140
Z mo- Bl HLAL % = Bl & M fii 22 G 5
U~ — A
= 1 s
1 4P

B FoKE R



® o
am m&t&

(1] vt

Ty b4 tH
1H/H4D
5 - B K W | % & T & @ | mE fis =
(1] & FEved
Yxy FR4tE H S
S
1] % S
ey
2] % SHMET
e
3] % ST
R
(4] % S
1 &B/H 34D

B FoKE R



(2] wRiE (. L BHA R
50110 51 Hi4 t

® o

o T

1m3¥4 Y
5 W s W | % & i & @ | mE fis =

[2] B (R L A ERY)

3 35 A
BB #4 ¢ | e
S
1] % S
ey
2] % SHMET
e
3] % ST
R
(4] % S

1m3 YD

B FoKE R



(3] W& WALy (BEHERHEE)
50 1% 5| At

® O
o T

1m3¥4 Y
5 - B K W | % & i & @ | mE i =

[3] B LRy (Hsekie)

3 4751
a8 ) | EAt m | e
S
1] % S
ey
2] % SHMET
e
3] % ST
R
(4] % S

1m3 YD

B FoKE R



® o
am m&t&

(4] #&/KH

4t B
1H/H4D
5 - B K Wi | % & T & @ | mE fis =

[4] #KkHEH

4t = o

S

1] % S

ey

2] % SHMET

e

3] % ST

A

(4] % S

1 &B/H 34D

B FoKE R



NERE
(5] FAANBRE (572 L) %6 B
1m2X%4 9
5 W s W | % & i & @ | mE fis =
(5] FAANRE (057 L)
0 6751
1 e
S Y
1] % S
ey
2] % SHMET
e
3] % ST
R
(4] % S
1m2 %40

B FoKE R



NERE
(6] Al BRLET () _—_
1 A¥%DY
5 W s W | % & i & @ | mE fis =
(6] Zcimhit Bl T (A)
A 75
G
S
1] % S
ey
2] % SHMET
e
3] % ST
R
(4] % S

I A %Y

B FoKE R




NERE
(7] Aol BRLE T (B) _—
1 A¥%DY
5 W s W | % & i & @ | mE fis =
(7] ZcihFs BB T (B)
A S5
G
S
1] % S
ey
2] % SHMET
e
3] % ST
R
(4] % S

I A %Y

B FoKE R



<
HH Al =
140
& By O QT B & il 4 #H L i =
(1] & )E i By
it " e
(2] &S GEf. m DA GE)
n3 251X
R 5| HA t 1 fili 2%
[3] & tmbslsy (FedekhaE)
3 35
o )% 5| #i4t 1 fili 2%
[4] #EkHE
A 451X
it fifi %
[5] & BEBRE (A J7it T.)
n2 BRZRAV
1 fili %
(6] @i ERLE T. (A)
A 651X
fili %
(7] @S EALE T. (B)
A T
Ml
I - ¢
A | i

B FoKE R



<)
HH il
104D
LA i) B = ¥iva B & (i & #H i fisi =z
1 %Y

B FoKE R



[1] ®mEfesE
Vxy F4tE

w 5
=

[\\]

o T

1H/B%Y
2 N = R S AL H = il & | S I =
(1] & )E i By
4t - fili 2%

5}

1 &/H 49

B FoKE R



(2] wRiE (. L BHA R
58I 5| 4 t

w 5
=

w

o T

1m34 b
4 FR O AL H = il & | S I =
[2] &% (&R 5L A ER)
3 251K
g ) 5 H4 t 1 fili 2%

5}

1m3 YD

B FoKE R



(3] W& WALy (BEHERHEE)
5810 5| Hiat

W NF
=

N

a mt&&

1m34 b
4 FR O AL H = il & | S I =
[3) & tabivsy (BRFERHE)
n3 3K
g ) 5| 4t 1 fili 2%

5}

1m3 YD

B FoKE R



<
A5
4Kt4%£%\é7k$ w5 B
1B/HYY
2 N = R S AL H = il & | L I =
[4] #EkHE
H 451X
4t H Ml

5}

1 &/H 49

B FoKE R



<
HH Al =
[5] FARADBRE (572 L) 6 B
1m24 Y
& By O AL B & il 4 #H L i =
[5] EBEERE (N JIE 1)
0 BRZR AV
1 Ml
[8] T KBRHE (FEH)
9 REZRAV
1 fili 2%
[9] FAKFEA Ho T - FT o7
1 fili %

1m2 %49

B FoKE R



<
HH A 2
(6] RiEFEERLE T (A w7 B
N
2 N = R S AL H = il & | L I =
(6] @i EALE T. (A)

A 651
Ml

I A %Y

B FoKE R



<
HH A 2
(7] RiEFEERET (B g B
N
2 N = R S AL H = il & | L I =
(7] Z@mFEEALE T. (B)

A (R=X AV
Ml

I A %Y

B FoKE R



(AW(iE

[1] & eV s st =
it [a] BLESLCTAY 4 1 =
1B/HYY
4 FR O BANT = Al & %A e I £
L]
)= bl 2 AKLASRLEE L
VR Al
A
i E¥ER
N
A T (RFER)
N
5 e
4t + 154kW (210PS) 5
M
= | L
1 &/H %Hb

B FoKE R



(AW(iE

21 Dl (1 e R ) %o o
12.8m3%4 v
P A i & m | mE W%
)0
4t H
o
A 1 i 4

1m3 YD

B FoKE R



(3] W& WALy (BEHERHEE)

5810 5| Hiat

(AW(iE

BT

&

58 10 5 | L iR
4 t

ey ]

i MR

%HEH
S

1m3 YD

B FoKE R



(AW(iE

[4]) #E/KkEHE o o
4t a4
1 HY%Y
& B B BT ¥ o= B Al 4 %A e firg =
2% i
)= bl 2 AKLASRLEE L
JEHRTF (%)
A
e 7K B
154kW (210PS) - AtFf FRFTH]
Gt M &
= | R4
B
1 H %Y

B FoKE R



(AW(iE

5 B
1,000 m2¥4 Y
4 B - B e W | M & B & | fim =

e

A
AT ()

A
et
1] % SHMET

1m2 %49

B FoKE R



(AW(iE

w6 B
N
A B HOK QT B & L= R i & M e i =
T EE R BA
N
2V

%HEH
R
&

I A %Y

B FoKE R



(AW(iE

CA
N
A B HOK QT B & L= R i & M e i =
W5 E 1 BB
N
2V

%HEH
R
&

I A %Y

B FoKE R



(8] TIKBREL (JEHD)

% 8

(AW(iE

=

o
1,000 m2¥4 Y
5 - B K W | % & i & @ | mE fis =
e
A
ChET
1] % S

1m2 40

B FoKE R



(9] FkBA o7 FT v o

(AW(iE

%9 B
1,000 m2¥4 Y
4 o BT T i & m | e fis %
[10] HEAERE 77 199
0 1051%
FriE 11, 5kmPL T 1, 000 {ﬂﬁ?%
M
= | T

1m2 40

B FoKE R



(ANiES
[10] FEAIEMWE 407 Moy) ® 10 &

FiE11. 5kmBL R
B mPA 1,000 m224 v

5 - B K Wi | % & T & @ | mE fis =
St 2
A
AVYARVEYNY
Hneh -7 -t b R B R e
et
1] % SEHER

1m2 %49

B FoKE R



